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Q.2

Q.3

Q.4

tigures to the right hand indicate full marks.

Draw neat diagrams wherever necessary.

Answer the following :
a) Explain changes in the growth of National Income.
OR

b) Bring out changes in the occupational structure.

¢) Discuss the importance of agriculture in Indian economy.
OR

d) Explain the objectives of land reforms.

e) Describe trends in Industrial Production since 1991.
OR
f) What are the objectives of Industrial policy 1991?

a) Discuss the demographic features of India..

b) Explain Indian as an emerging economy.
OR

¢) Explain poverty in Indian economy.

d) Bring out extent of Income inequality in India.

a) Examine the rural credit in Indian economy.
b) Describe the land reform measures.
OR
¢} What are the causes of law agricultural productivity India ?

d) Bring out new agricultural strategy.

a) Explain problems of small scale sector.

b) Discuss the trends in Industrial production during 1951 to 1991.
OR

¢) Examine the changes in Industrial structure.

d) Discuss meaning and process of Disinvestment in India.
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